Notation and Proof

This month has exactly 29 days

It is February in a leap year

This month has at least 29 days

It is February in a leap year

The solutions to a single equation
arex =+4+lorx =-1

x+Dx-1)=0

The solutions to the equation(s)
arex =+4+landx = -1

x+Dx-1)=0

Three straight line segments in 2D meet at
exactly 2 points

Exactly 2 of 3 straight line segments in 2D are
parallel

Three straight lines in 2D meet at exactly 2

Exactly 2 of 3 straight lines in 2D are parallel

points
x2=9 x=3
x2=9 x =13
Vi =3




